
39

40

41

42

43

1

2

3

4

5

7

8

9

10

11

12

14

15

16

20

21

22

23

24

25

26

19

19

28

29

30

31

32

33

34

35

36

37

38

45

44

13

17 18

27

46

16

Glass dør
Glass door

Glass door
Glass dør

6O2 N

Del liste / Part list Jøtul F 602 N

Jøtul AS
Fredrikstad , Norway

Drawing no:
3-2705-P01 

Date: 
Jan 05

Burnplate new



Jøtul F 602 N

BP= Black paint- cat.no. 320036

PrislisteID RE

Pos. 

nr.

Artikkel 

nr. Består av pos.nr:                                                       Descriptions Dim./Spec.

1 J12014479 Hot plate, ø240mm Cast iron, min 4mm thick

2 Gasket LD 360 Ø8.7x850

3 J12014272 Baffle plate, Cast iron, min 4mm thick

4 J10023517 Nut M8

5 J12014265 Vent baffle f/door Cast iron, min 4mm thick

7 J12014902 Top plate, BP Cast iron, min 4mm thick

7 J12014900 Top plate, BBE Cast iron, min 4mm thick

8 J12014343 Flue outlet, BP Cast iron, min 4mm thick

8 J12014342 Flue outlet, BBE Cast iron, min 4mm thick

9 J12014926 Back plate, BP Cast iron, min 4mm thick

9 J12014925 Back plate, BBE Cast iron, min 4mm thick

10 J12014908 Side panel, BP Cast iron, min 4mm thick

10 J12014905 Side panel, BBE Cast iron, min 4mm thick

11 J12014897 Base plate, BP Cast iron, min 4mm thick

11 J12014894 Base plate, BBE Cast iron, min 4mm thick

12 J12014405 Leg, BP Cast iron, min 4mm thick

12 J12014403 Leg, BBE Cast iron, min 4mm thick

13 J12020477 12 Legs, package of four Cast iron, min 4mm thick

13 J12020556 12 Legs, package of four Cast iron, min 4mm thick

14 J12014269 Blanking plate, BP Cast iron, min 4mm thick

14 J12014266 Blanking plate, BBE Cast iron, min 4mm thick

15 J10023556 Countersunk screw M6x16 DIN 965

16 Burn plate Cast iron, min 4mm thick

16 J10422012 Burn plate new Cast iron, min 4mm thick

17 J10023544 Screw, collar head M6x10

18 J10024311 Heatshield - bottom 0,9mm steel plate

19 J10023536 Screw, collar head M6x25 

20 J10023541 screw collar head M6x16 

21 J10023620 Screw, cylinder head M6x30 DIN 84 S.krom.

22 J10023783 Knob, plastic Plastic 7483

F 602 N

1 Side

04.02.01



Jøtul F 602 N

BP= Black paint- cat.no. 320036

PrislisteID RE

Pos. 

nr.

Artikkel 

nr. Består av pos.nr:                                                       Descriptions Dim./Spec.

23 J10023475 Nut M6

24 J10023782 Door catch Steel

25 J12014526 Door handle Cast iron, min 4mm thick

26 J10023509 Screw flat inthex M8x25 DIN 7991

27 J10023780 Washer Ø18x06,4x1.6

28 J10024103 Pin, door black cromat ø6x33

29 Door Cast iron, min 4mm thick

29 Door BBE Cast iron, min 4mm thick

30 J12020473 2,4,5,25,26,29,31,32 Door, complete, BP

30 J151714 2,4,5,25,26,29,31,32 Door, complete, BBE

31 J10023496 Screw, countersunk M8x35 DIN 963

32 J12016971 Air slide vent, BP Cast iron, min 4mm thick

32 J12016970 Air slide vent, BBE Cast iron, min 4mm thick

33 Front plate Cast iron, min 4mm thick

34 J12020461 20,24,33 Front plate, complete, BP

34 J12020554 20,24,33 Front plate, complete, BBE

35 J51012041 2,4,5,25,26,29,31,32 Glass door BP

36 J51012040 2,4,5,25,26,29,31,32 Glass door BBE

37 J10024192 Glass, ceramic 4x147x154

38 J12016371 Air slide vent Cast iron, min 4mm thick

39 J10023563 Screw, panhead M6x12 DIN 7985

40 J12016365 Air deflector Cast iron, min 4mm thick

41 Gasket LD 187-1 Ø4.8x600

42 Gasket V-125 8x150

43 J10024264 Spring for glass-door 0,7mm Stainless Ø7.6x13

44 J12016368 Door baffle Cast iron, min 4mm thick

45

45

46 J10023666 Nut collar M6

F 602 N

2 Side

04.02.01


	Jotul F 602 N PARTS LIST.xls
	F 602 N




